“Neat” Polar Graphs
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- 0) Setup (unless specified differently): MODE: Pol & Radian
(for T182 or TI83 calculators) ZOOM: 6 (ZStandard)
FORMAT: AxisOff & PolarGC (optional)

1) Y= ry =4 cos{646)
Window:
[6min, 6max] 6step: 6[0,39] 0.1
Xmin, Xmax] Xstep: X [-6,6]0
[Ymin, Ymax] Ystep: Y [-4,4]0

2) Y=: 11 =4cos(646)
Window: 6[0,2n] n/24
X [-6,6] 0
Y [-4,4] 0

3} Y=: rqy=4cos(39)

ro = 4 sin{36)

r3 = -4 sin{36)

ry = 4 cos(66)

rs5 = 4 cos{3(8— n/3))

rg= 4

Window: 8[0,2n] n/24

X[-6,6]0
Y [-4,4] 0

4) Y= ry =4 cos(86)
rr = 4 cos{26)
r3 = 4 cos{46)
rs = 4 sin(86)
r5; = 4 sin(46)

g = 4 sin(26)
Window: 6[0,2xn} /24

X{-6,8]0

Y [-4,410
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“Neat” Polar Graphs continued

5) Y=: rq=3sin{(1/3}6) —
rp = -3 sin{(1/3)6) {f“‘a )
Window: 0[0,2r] n/24 \\% i
X [-6,6] 0 —
Y [-4,4]10

6) Y=: ry=3sin{106)
Window: 6[0,2n] n/24
X[-4.74710
Y [-3.1,3.1] 0

7) Y= rq{= e
Window: 6[0,15710.8
X [-155,155] O
Y [-140,140] 0

8) Y= !'1329

R

ry = 26 /f{fﬁiﬁﬂ
Window: 610,40] 0.2 M{{ @) )1})
X ['60,601 0 ’Il".\"l'k \_‘-«,_““»ﬁ:-__;:-jj’f.;ﬁ#m'

Y [-40,40] 0 W T S

9) Y=: ry=0.256
Window: 8[0,600] 0.5
X [-60,60] 0
Y [-40,401 0

a) graph with a 6 step of 0.5
b) graph with a 6 step of 1.0
c) graph with a 8 step of 1.5
d) graph with a @ step of 2.0
e) graph with a 8 step of 2.5 (best one?)
f) graph with a 6 step of 3.0
g) graph with a 6 step of 3.5
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“Neat” Polar Graphs continued

10) Y=: rq= 4 cos{4sin(4
cos{dsin{cos(4
sin{cos{4sin(
tan(6))N)N))

r; = 4 cos(cos(cos(

tan(tan(tang))))))
r3 = rq * f2

Note: rq & ry are not turned on

only ryis turned on
Window: 6[0,2x] n/24
X[-7,710
Y[-4,4]0

11) Y=: rqy =4 cos(2cos6))
Window: 6[0,27] n/24
X[-6,6]0
Y [-4,4] 0

12) Y=: rq=4 cos(4cosd))
Window: 6]0,2xn] n/24
X[-6,6] 0
Y [-4,4]0

13) Y= rqy =4 cos(10cos6)}
Window: 6[0,27] n/24
X[-6,6]0
Y i-4,410

14) Y=: rq =4 cos(6)4 sin(6)

rp = 0.5 sin(6)

r3 =1 sin{6}

rq = -3 sin(6)

rs = -2 sin(4)

rg = -1 sin(6)

Window: 6[0,2r] n/24

X[-6,610
Y [-4,4]1 0
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e
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“Neat” Polar Graphs continued page 4 of 4

18) Y= ry =184 tan(4656)
ro = 842 sin(3726)
r3= 52 cos(126)

Window: 6[0,2r] n/24
X [-6,6] 0
Y [-4,4]10
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